

Dealer: Westside Motorcoach

Salesman: Kelly Dill

Phone: (815) 529-2647

www.westsidemotorcoach.com

Customer Name: Used 2022

Job #: K01-3422

Description	Color	UOM	Qty	Price	Amount
Chassis					
Customer Supplied Chassis		EA		\$3,500	\$3,500
Volvo VNL 500HP I-Shift Trans Tandem Rear Axle	•	•	•	'	
US Domiciled		EA			\$219,520
	•	•		Sub Total	\$223,020
Renegade Conversion					
45' Bath & 1/2 Front Entry Motorhome - 45CME-XM	T	I	Τ	\$285,992	\$285,992
2022MY - 245" C/A		!	-		·
				Sub Total	\$285,992
Exterior					
Larger Bunk Area		EA		\$1,610	\$1,610
60 X 95	•	•	•		
Electric Trailer Brake Controller w/ Digital Display		EA		\$0	\$0
20 Mil TempCoat Walls, Ceiling & Floor		LF	34	\$140	\$4,760
Underbody LED Lights - Color changing w/controller		EA		\$1,330	\$1,330
12V LED Scene Light		EA	5	\$322	\$1,610
2 C/S 1 Rear 2 R/S					
Optional deluxe light layout with six extra lights & center brake light		EA		\$1,680	\$1,680
Midship Turn Signals		EA		\$210	\$210
Full 7'6" Interior Height (90")		EA		\$0	\$0
Spray foam insulation in the walls and ceiling including the slideouts		LF	34	\$154	\$5,236
12V/110V Recept in Storage Box		EA		\$140	\$140
R/S Rear					
Undercoating		EA		\$0	\$0
Docking Lights - LED		EA		\$0	\$0
Full Width Mudflap w/SS Renegade Logo		EA		\$0	\$0
Chrome Cargo Door Handles		EA		\$490	\$490
Side Swing Baggage Doors w/strut assist - White		EA		\$0	\$0
Trimark Handle Keyless Entry - Side Door		EA		\$0	\$0
Diamond Shield Anti-Chip Paint Protection (required if coach is painted)		EA		\$1,050	\$1,050
Tempcoat Waste Tank Box		EA		\$735	\$735
Insulated Roof Hatch		EA		\$490	\$490
In the Cabover Bunk					



Dealer: Westside Motorcoach

Salesman: Kelly Dill

Phone: (815) 529-2647

www.westsidemotorcoach.com.com

Customer Name: Used 2022

Job #: K01-3422

Description	Color	UOM	Qty	Price	Amount
4-Point Auto Leveling System w/App Control		EA		\$0	\$0
Power Locking Baggage Doors - where applicable		EA		\$0	\$0
3/4 Pass Thru Compartment, C/S rear		EA		\$770	\$770
Spray Cargo Compartments w/Bedliner Material - Grey		EA		\$2,485	\$2,485
Universal Adj. Hitch w/2"& 2 5/16" Ball, 2" Reducer, and Pintle Lock		EA		\$0	\$0
Extra Clearance Light Top Rail 3 per Side Spaced Evenly			6	\$35	\$210
				Sub Total	\$22,806
Paint					
Paint- Custom		EA		\$30,100	\$30,100
Full Body Custom Paint - Match K01-3428	•		•		
				Sub Total	\$30,100
Warranty					
One Year Limited Conversion Warranty (Included)		EA		\$0	\$0
	•		•	Sub Total	\$0
Slideouts					
6' Slideout Room		EA		\$0	\$0
Bed Slideout		EA		\$0	\$0
15' LQ Slide out - Available only with 18 cu ft Refer		EA		\$0	\$0
Windows on sides of Bed Slideout		EA		\$0	\$0
Wardrobe Slideout - R/S		EA		\$0	\$0
	-			Sub Total	\$0
Awnings					
Slide Toppers	Black w/ Black Fabric	EA		\$0	\$0
Girard Vision Dual Pitch Awning ILO Carefree	Black w/ Black Fabric	EA		\$1,092	\$1,092
12'2"				-	
Girard Vision Dual Pitch Awning	Black w/ Black Fabric	EA		\$5,600	\$5,600
19'3"					
Dual manual window awning	black/black			\$693	\$693
LQ Slide					



Dealer: Westside Motorcoach

Salesman: Kelly Dill

Phone: (815) 529-2647

www.westsidemotorcoach.com

Customer Name: Used 2022

Job #: K01-3422

Description	Color	UOM	Qty	Price	Amount
Single manual window awning	black/black		3	\$553	\$1,659
Bedroom, Ktchen, TV Slide					
				Sub Total	\$9,044
Windows					
Bonded Thermopane Windows		EA		\$0	\$0
Skylight over Shower		EA		\$413	\$413
Cab Window Tint		EA		\$315	\$315
Manual Day & Night Window Shades		EA		\$0	\$0
Window Above Toilet in Rear Bath		EA		\$735	\$735
Bunk Window w/Valance and Shade (single)		EA		\$371	\$371
C/S					
48" X 24" Picture Window in the Livingroom Behind the Livingroom 50"				\$0	\$0
	•	•		Sub Total	\$1,834
Interiors					
Cabover Bunk Privacy Curtain		EA		\$420	\$420
Standard Hardware & Fixture Finish- Brushed Nickel		EA		\$0	\$0
"Soft Touch" Padded Vinyl Ceiling (White)	White	EA		\$0	\$0
Decor Package	Titanium	EA		\$0	\$0
Bedding	Titanium	EA		\$0	\$0
Padded Walls w/ Flat Panel Wainscoting	Quartz	LF	34	\$84	\$2,856
Ceiling Fan	White Base White Blades	EA	2	\$210	\$420
Bedroom & LQ	•	•	•	•	
Add'l. 110V Recept		EA		\$105	\$105
Kitchen Backsplash	-	-		-	
110v/USB & Shelf in Bunkover		EA		\$175	\$175
C/S					
Wood Valances - no decor tops		EA		\$0	\$0
Multiplex Control System w/App Control		EA		\$0	\$0
Lighted Ceiling Accent Medallion		EA		\$700	\$700
Cab / Conversion Divider (Wood Doors)		EA		\$1,785	\$1,785
All Wood Entry		EA		\$455	\$455
Additional Coat Rack at Entry		EA		\$105	\$105



Dealer: Westside Motorcoach

Salesman: Kelly Dill

Phone: (815) 529-2647

www.westsidemotorcoach.com

Customer Name: Used 2022

Job #: K01-3422

Description	Color	UOM	Qty	Price	Amount
Install a Safe in the Closet				\$490	\$490
				Sub Total	\$7,511
Furniture					
Bunk Mat	Tan	EA		\$0	\$0
Ultraleather Seat Fabric Package	Raven Wing	EA		\$0	\$0
Small King Bed 66 x 80 Memory Foam Mattress		EA		\$0	\$0
Dream Dinette Feature		EA		\$0	\$0
OEM Captains Chairs	Raven Wing	EA		\$0	\$0
Recover OEM Seats - perforated	•			•	
Theatre Seats w/Power	Raven Wing	EA		\$1,253	\$1,253
Booth Dinette	Raven Wing	EA		\$0	\$0
	•			Sub Total	\$1,253
Cabinets					
Dove Tailed Drawers		EA		\$0	\$0
Mesh Screen ILO Glass in A/V Cabinets		EA		\$0	\$0
Add Drawers to Bathroom Vanity		EA		\$420	\$420
Stacked Silverware Drawer		EA		\$0	\$0
Maple Cabinets	Natural	EA		\$0	\$0
Lexington Doors	•				
Cedar Line Wardrobe Closet		EA		\$420	\$420
Cabinet in Bunkover	Natural Maple	EA		\$770	\$770
R/S					
Pantry w/can & large item drawers		EA		\$0	\$0
	·			Sub Total	\$1,610
Flooring					
Floor - Heated (Per Lineal ft.)		LF	34	\$175	\$5,950
Tile - Floor Grout	Sahara Beige	EA		\$0	\$0
Honed Finish Porcelin Tile - per foot	Bardalino Graphite	LF	34	\$175	\$5,950
Carpet - Slidebox	Rock Garden	EA		\$0	\$0
Extra Carpet Runner	Rock Garden	EA		\$35	\$35



Dealer: Westside Motorcoach

Salesman: Kelly Dill

Phone: (815) 529-2647

www.westsidemotorcoach.com

Customer Name: Used 2022

Job #: K01-3422

Description	Color	UOM	Qty	Price	Amount
Tile Wainscoting in Bathroom around Toilet	Honed Bardalino Graphite - Rear toilet	EA		\$490	\$490
Tile wainscoting in Bathroom	Honed Bardolino Graphite			\$700	\$700
All walls - mid bath					
				Sub Total	\$13,125
Countertops					
Polished Solid Surface Countertops	Sanremo	EA		\$0	\$0
Tile - Backsplash Grout	lvory	EA		\$0	\$0
Tile Backsplash in Kitchen	Ocean Crest	EA		\$0	\$0
Color Changing LED's in Countertop Edges & Toekicks		EA		\$1,673	\$1,673
Tile Backsplash in Bathroom(s), Chair-rail Height	Ocean Crest	EA		\$0	\$0
				Sub Total	\$1,673
Appliances					
2 Burner Induction Cook Top		EA		\$833	\$833
Washer & Dryer Stack		EA		\$2,310	\$2,310
1.5 cu ft SS Convection Microwave	SS	EA		\$0	\$0
Central Vacuum System - Basement Mount		EA		\$455	\$455
Samsung 18 cu ft Residential French Door Refer w/lce	SS	EA		\$0	\$0
Premium Exterior Refer/Freezer on Slide tray		EA		\$2,408	\$2,408
Dishwasher Drawer				\$1,393	\$1,393
		-		Sub Total	\$7,399
Water Systems					
Toilet-Macerator		EA	2	\$0	\$0
150 Gallon Fresh Water Tank		EA		\$0	\$0
Single Lever Kitchen Faucet w/ Retractable Sprayer	Brushed Nickel	EA		\$0	\$0
Waste Tank Flush		EA		\$0	\$0
Outside Spigot (by holding tanks)		EA		\$0	\$0
Outside Shower		EA		\$245	\$245
Solid Surface Shower - Horizontal Accent stripe	Sanremo	EA		\$6,020	\$6,020
Ocean Crest Accent(#2) Grout: Ivory	•		-	•	
Single Bowl Stainless Steel Kitchen Sink w/ Cover		EA		\$0	\$0
Solid Surface Bath sink ILO Stainless	Sanremo	EA	2	\$252	\$504



Dealer: Westside Motorcoach

Salesman: Kelly Dill

Phone: (815) 529-2647

www.westsidemotorcoach.com

Customer Name: Used 2022

Job #: K01-3422

Description	Color	UOM	Qty	Price	Amount
Flo-Jet Sewage Macerator System		EA		\$833	\$833
Water Management Bay		EA		\$0	\$0
(2) 75 Gallon Holding Tanks		EA		\$0	\$0
(2) Holding Tank Heat Strips per Tank		EA		\$0	\$0
Water Pump - Variable Flow		EA		\$0	\$0
Whole House Water Filter		EA		\$0	\$0
Power Fresh Water Hose Reel		EA		\$553	\$553
				Sub Total	\$8,155
Mechanical Systems					
Dual Premium High Capacity Lithium Batteries		EA		\$8,736	\$8,736
(4) Total	•				
Additional Premium High Capacity Lithium Battery		EA	2	\$4,368	\$8,736
450 Aqua-Hot w/ engine pre heat & 1 water management box /sewage bay heater		EA		\$9,800	\$9,800
(3) Maxaire Deluxe Vents		EA		\$728	\$728
A/C (3) 15,000 BTU Low Profile Ducted Roof Mount - (for over 40')		EA		\$0	\$0
Generator 12.5 KW Onan Quiet Diesel (std. on Coaches over 40')		EA		\$0	\$0
Power Retractable Shore Cord Reel w/36' Cord		EA		\$0	\$0
Surge protected transfer switch		EA		\$0	\$0
Solar Panel System - (3) 175W Panels		EA	2	\$1,882	\$3,763
(6) Total					
3000W Inverter		EA		\$0	\$0
Additional 3000W Inverter		EA		\$3,213	\$3,213
Wire to center A/C					
				Sub Total	\$34,976
Electronics					
Blu-ray Player in Bedroom		EA		\$0	\$0
Blu Ray Player - Front		EA		\$0	\$0
CB Radio		EA		\$420	\$420
Side Bullet Cameras		EA		\$0	\$0
Winegard Mission RT4035T In-Motion Satellite Dish- Receivers not Included		EA		\$0	\$0
Prewire for Stationary HD Satellite System		EA		\$0	\$0
Samsung Soundbar w/Bluetooth & Wireless Subwoofer		EA		\$0	\$0



Westside Motorcoach Dealer:

Salesman: Kelly Dill

> Phone: (815) 529-2647

> > www.westsidemotorcoach.com

Used 2022 **Customer Name:** 

Job #: K01-3422

VIN #: 4V5NC9EJ5NN292905

Description	Color	UOM	Qty	Price	Amount
43" 4K HDTV ILO 32" Standard		EA		\$693	\$693
Bedroom					
50" 4K HDTV on Televator		EA		\$2,653	\$2,653
LQ					
Winegard Connect 2.0 WiFi, 4G/LTE Range Extender & OTA antenna, Power amp.		EA		\$0	\$0
Back-up camera w/Monitor - Std. on Volvo, Kenworth, Western Star Chassis		EA		\$0	\$0
Outside Entertainment Center: 43" LED TV w/Soundbar on Extending/Swivel Arm		EA		\$2,653	\$2,653
SureCall Fusion2GO 3.0 RV Cell Signal Booster		EA		\$588	\$588
Fireplace w/Storage				\$826	\$826
				Sub Total	\$7,833

#### Order Notes:

NOTE:

Due to continued improvement & changes in suppliers, design & production: equipment, colors, material specifications, prices & model availablity Chassis: \$223,020 are subject to change without notice. Changes made to confirmed orders are Base: \$285,992 subject to a change order fee of up to \$1500. Options: \$117,219 Rev: 04/2/2012 Paint: \$30,100 Please Sign Here To Confirm Order: Freight: \$0

\$656,331

MSRP:

ALL ORDERS MUST BE ACCOMPANIED BY A FLOORPLAN

45 CME 538 [44'-10"] 128 3/8 409 5/8 [34'-1 5/8"] -VOLVO VNL 404 7/8 187 3/4 FF -5 1/2 141 [11'-9"] MANUAL AWNING 137 7/8 SOLAR 48X24 BONDED 48X24 BONDED 5 1/2 ----80 SWTK V000627410 - 5 1/2 27-8003 TILE BACKSPLASH -CHAIR-RAIL HEIGHT **BACKERS FOR** TILE BACKSPLASH SAFE CURTAIN RAIL HAIR-RAIL HEIGHT 4 7/8 -CLOSET SEAT BELTS 18 cu.ft. CEDAR (SL) 18X24BONDED RES. 18X24BONDEL REFER 름 00 43" LED TV CABINET O 26 1/2 (3) TILE 60x95 WAINSCOTE BUNK OVER CAB (15 FT2) 57 1/2 60X80 BUNK MAT WAINSCOTE (30 FT2) A/C EILING MEDALLIO VENT (H) YEER CAB DOORS MINI KING BED LIGHT (AE) 09 66x80 LAYOUT W/D OHC STACK OHC 07 00 30X20 BONDED 24XI5 BONDED FIREPLACE 28 SL 28 W/STORAGE - 36 5/8 CURTAIN BATTER 54 [4'-6"] MANI RAIL 02 4 7/8 --4 7/8 DISCONNECT 50" LED TV GRAB HANDLE 48X24 BONDED EGRESS TILE BACKSPLASH 54 [4'-8"] MANUAL AWN - 54 [4'-6"] MANUAL AWN |--COAT HOOKS NOTES: ALL WOOD OUTSIDE **UNDERBODY LED LIGHTS** ENTRY 245 CAB TO CENTER FRONT AXLE MULTIPLEX 00 - COUNTERTOPS 24 - WINDOW VALANCES 146 [12'-2"] GIRARD VISION 2 STAGE ROOF AWNING **HEATED FLOOR** 236 [19'-8"] GIRARD VISION 2 STAGE ROOF AWNING WOOD VALANCES - NO DECOR TOPS 25 - STACKED SILVERWARE DRAWER MESH DOOR IN AV CABINETS 26 - AQUAHOT COVERS **LED LIGHTS IN CTOPS & TOEKICKS** 27 - TV BASE 28 - FIREPLACE REV REVISION TABLE BY **UNLESS SPECIFIED ALL** K01-3422 DEALER. WESTSIDE UNIT# **CHANGED FRONT AWNING TO 19' 8" DIMENSIONS ARE IN INCHES** 45 CME-XM DRAWN BY JF MODEL **TOLERANCES** DATE 10/18/2021 DRAWING FLOORPLAN FRACTIONAL: ± 1/16 ANGULAR: ± 1 degree **DRAWING #** TWO PLACE DECIMAL: ± .010 SHEET 1 OF 1

THIS DRAWING AND ITS CONTENTS ARE THE PROPERTY OF RENEGADE / KIBBI LLC AND ARE NOT TO BE COPIED OR REPRINTED WITHOUT CONSENT.

DO NOT SCALE DRAWING

**REV** 











































































































































































